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M.Ed. (Second Semester)
EXAMINATION, May - June, 2022

Paper Fifth
INTRODUCTION OF RESEARCH METHODOLOGY

IN EDUCATION

Time : Three Hours] [Maximum Marks:80

     
Note: Attempt all the sections as directed.



(Section - A)

 

(Objective/Multiple Choice Questions)

(1 mark each)

    

Note : Attempt all the questions.

  

Choose the correct answer.

P.T.O.
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1.    

(A)   

(B)    

(C)   

(D)   

One tailed test of significance means:

(A) Testing the null hypothesis

(B) Testing the substantive hypothesis

(C) Testing the directional hypothesis

(D) Testing the non - directional hypothesis

2.  

(A)     

(B)     

(C)      

(D)      

Level of significance means:

(A) The probability of rejecting the null hypothesis

(B) The probability of accepting the null hypothesis

(C) The probability of accepting the research hypothesis

(D) The probability of rejecting the research hypothesis
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3.  

(A) 

(B)  

(C)  

(D)    

A measuring tool for research should be -

(A) Well standardized

(B) Highly reliable

(C) Highly Valid

(D) Both sufficiently reliable and sufficiently valid.

4. 

(A)   

(B)   

(C)   

(D)  

Theory building is the purpose of-

(A) Applied research

(B) Action research

(C) Fundamental research

(D) Survey research

[4]

F - 495

5. 
    

(A) 

(B) 

(C) 

(D) 

The technique which is used for measuring interpersonal
relationships within a group is known as -

(A) Psychogram

(B) Psychodynamics

(C) Sociogram

(D) Scalogram

6.    

(A) Ho  

(B) Ho 

(C) Ho  

(D) Ho 

(Alpha) gives the probability of:

(A) Falsely rejecting Ho

(B) Correctly rejecting Ho

(C) Falsely accepting Ho

(D) Correctly accepting Ho
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7. 'C'


(A) 2 /x N

(B) 2/x N

(C) 2( ) /x N

(D) 2( / )x N

Which is the correct formula for calculating the correc-
tion term 'C' in case of ANOVA.

(A) 2 /x N

(B) 2/x N

(C) 2( ) /x N

(D) 2( / )x N

8. 

(A)   

(B)  

(C) (A)(B)

(D) 

A good sample should not have:

(A) Random sampling error

(B) Bias selection

(C) Both (A) and (B)

(D) None of the above

P.T.O.
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9.  

(A) 

(B)  

(C)  

(D) 

Action research is related to

(A) New search

(B) Immediate problems

(C) For schools

(D) All of the above

10.  

(A)  

(B) 

(C) 

(D)   

The problem is the proposed question for solution. This
statement is given by -

(A) John Dewey

(B) Woodworth

(C) Murphy

(D) John C. Torensand
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11. 

(A) 

(B) 

(C) 

(D) 

Steps of review of literature are -

(A) 1

(B) 2

(C) 3

(D) 5

12.   

(A) 

(B) 

(C) 

(D) 

Error is of how many types?

(A) 1

(B) 2

(C) 3

(D) 4

P.T.O.
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13.  ++   

(A) 

(B)  

(C)  

(D)  

Z-Score in the range of + 0.50 to +1.00 means -

(A) Normal

(B) More than normal

(C) Less than normal

(D) None of the above

14. 


(A)
2

2 1

61
( )
D

N N

(B)
qp q

t

M M P
r

r y

(C)
0180cos

1 /
rt ine

BC AD

(D) 
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Which of the following formula is used to calculate
tetrachoirc correlation.

(A)
2

2 1

61
( )
D

N N

(B)
qp q

t

M M P
r

r y

(C)
0180cos

1 /
rt ine

BC AD

(D) None

15.     

(A)  

(B)     

(C) 

(D) 

Hypothesis is formulated-

(A) On scientific basis

(B) On the basis of natural phenomena

(C) Based on your preference (liking)

(D) None of the above

P.T.O.
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16.  

(A) 

(B) 

(C) 

(D) 

Central tendency is:

(A) Median

(B) Chi-square

(C) Correlation

(D) All of the above

17.  

(A)  

(B)  

(C)  

(D) 

The other name of independent variables in experimen-
tal research is:

(A) Treatment variables

(B) Experimental variables

(C) Manipulated variables

(D) All of the above
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18. 


(A) 

(B) 

(C) 

(D) 

Which of the following is the most reliable level of signifi-
cance?

(A) 0.10

(B) 0.50

(C) 0.05

(D) 0.01

19.   

(A) 

(B)  

(C) 

(D) 

What is the difference between lab experiment and field
experiment?

(A) Difference of place

(B) Difference of sample

(C) Difference of variables

(D) All of the above

P.T.O.
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20. 

(A)  

(B) 

(C)   

(D)     

Nill hypothesis is one which is:

(A) Always in negative form

(B) Tested by statistics

(C) Tested by two - tailed test only

(D) Tested without type -1 error

 

Section - B

  

(Very Short Answer Type Question)

(2 marks each)

    

Note : Attempt all the questions in maximum 2-3
  sentences.

1.   

What is the necessity of research work?

2.  

What is research problem?
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3.    

Mention the objective of literature review.

4.     

What do you understand by observation?

5.   

What is random sampling method? Clarify.

6. Z-   

What is Z - Score?

7.       

Mention any two advantages of research report.

8.  

What is bibliography?



Section - C

  

(Short Answer Type Questions)

(3 marks each)

      

Note : Attempt all questions in maximum 75 words.

1.     

Mention the use of normal probability curve.

P.T.O.
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2.     

What do you understand by Skewness? Discuss.

3.      

What is chi-square test. Clarify through definitions.

4.   

What are non-parametric methods and are of how many
types?

5.      

Clarify the importance of interview in educational research.

6. 

What are variables? What are the types of variables?

7.      

Clarify the degree of freedom.

8. 

What is item analysis?



Section - D

  

(Long Answer Type Questions)

(5 marks each)

   

Note: Attempt any four questions in maximum 150 words.
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1. 

Describe the utility of scientific method in educational
research.

2.       
    

What is reliability? Clarify the methods of establishing
reliability.

3. 
 

What is stratified random sampling? Explain its merits
and demerits.

4.        

  

   

   

   

   

   

P.T.O.
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F - 495

Find out the quartile deviation for the following fre-
quency distribution

Class Interval Frequency

40 - 44 03

35 - 34 04

30 - 34 15

25 - 29 03

20 - 24 05

5.         
     
      

   

Fo    

A class of 42 students are classified on the basis of
their performance into three categories; Good 16,
Average 20 and Poor 06. Test the hypothesis of normal
distribution.

Poor Average Good Total

Fo 06 20 16 42


